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 Q1) Attempt any two parts of following. [2×5=10]

a) State the advantages of electric traction system over other types of traction system.

b) What are the advantages of 25kV AC system over DC system?

c) Discuss the characteristics of single phase AC series motor.

Q2) Attempt any two parts of following. [2×5=10]

a) Explain the mechanical design features of traction motors.

b) What is difference between plugging and rheostatic braking.

c) What are the various arrangement of power supply to sub-station exist in India.

Q3) Attempt any two parts of following. [2×5=10]

a) What is co-efficient of adhesion? How does it affect in slipping of driving wheels of traction unit?

b) Explain various types of train services.

c) Discuss the various equipments required for traction - rectification.

Q4) Attempt any two parts of following. [2×5=10]

a) Describe briefly the design aspect of overhead equipments catenary and its types.

b) What is current collection system of an overhead equipment and its requirement.

c) Draw and explain DC track circuit.

Q5) Attempt any two parts of following. [2×5=10]

a) Draw and explain Mimic Diagram.

b) What are the advantages of remote control system in railway track system?

c) Explain voltage distribution on rails.
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NOTES :

i) Attempt all questions.

ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any
difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : i) g^r àíZm| Ho$ CÎma Xr{O`o&

ii) narjm{W©`m§o H$mo gbmh Xr OmVr h¡ {H$ do àíZ-nÌ Ho$ XmoZm§o AZwdmXmo§ _| gm§»`H$s` Am±H$‹S>m§o H$m {deof ê$n go {_bmZ H$a b§o& `{X {hÝXr AZwdmX Ho$
{H$gr àíZ _| {H$gr àH$ma H$s {^ÞVm h¡, Vmo narjmWu A§J«oOr AZwdmX Ho$ AZwgma àíZ H$m CÎma X§o&

iii) narjm{W©`m| Ûmam noµOa Am¡a _mo~mBb \$moZ H$m à`moJ AZw_Ý` Zht h¡&

à.à.à.à.à.1) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE : [2×5=10]

A) AÝ¶ àH$ma H$s H$f©U (Traction) àUmbr H$s VwbZm ‘| {dÚwV H$f©U àUmbr Ho$ bm^m| H$m CëboI H$a|&

~) S>r gr {gñQ>‘ Ho$ 25kV Egr {gñQ>‘ Ho$ ³¶m ’$m¶X| h¢?

g) qgJb ’o$O Egr grarO ‘moQ>a H$s {deofVmAm| na MMm© H$a|&

à.à.à.à.à.2) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE : [2×5=10]

A) H$f©U ‘moQ>a H$s ¶m§{ÌH$ {S>OmBZ {deofVmAm| H$s ì¶m»¶m H$a|&

~) ßbqJJ Am¡a ñQ>¡{Q>H$ ~«oqH$J ‘| ³¶m AÝVa h¡?

g) ^maV ‘| ‘m¡OyX g~ñQ>oeZ H$mo {~Obr AmnyVu H$s {d{^ÝZ ì¶dñWmE± ³¶m h¢?

à.à.à.à.à.3) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE : [2×5=10]

A) Amg§OZ (adhesion) H$m JwUm§H$ ³¶m h¢? ¶h Q´>¡³eZ ¶w{ZQ> Ho$ S´>mBqdJ ìhrëg Ho$ ñbrqnJ ‘| H¡$go à^md S>mbVm h¡?

~) {d{^ÝZ àH$ma H$s Q´>oZ godmAm| H$s ì¶m»¶m H$a|&

g) H$f©U gwYma Ho$ {bE Amdí¶H$ {d{^ÝZ CnH$aUm| na MMm© H$a|&

à.à.à.à.à.4) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE : [2×5=10]

A) AmodahoS> CnH$aU H¡$Q>oZar Am¡a CgHo$ àH$mam| Ho$ {S>OmBZ nhby H$m g§jon ‘| dU©Z H$a|&

~) AmodahoS> CnH$aU H$s dV©‘mZ g§J«h àUmbr Am¡a CgH$s Amdí¶H$Vm ³¶m h¡?

g) S>r gr Q´>¡H$ g{H©$Q> ~ZmE§ Am¡a g‘PmE§&

à.à.à.à.à.5) {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE : [2×5=10]

A) {‘{‘H$ S>m¶J«m‘ ~ZmAm| Am¡a g‘PmAm|&

~) aoëdo Q´>oH$ {gñQ>‘ ‘| [a‘moQ> H§$Q´>mob {gñQ>‘ Ho$ ³¶m ’$m¶Xo h¡?

g) aob (Rail) na dmoëQ>oO {dVaU H$s ì¶m»¶m H$a|&
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